Pull of x for PV

Ratio

Pull of y for PV

Ratio

Pull of z for PV

0.95F

1.05

iy

== N e

0.9

0.8

0.7

0.6

0.95
0

30 40 50 60
Simulatgd_interactions

[m¥aY W]

Pull of x

Ratio

0.9

0.8

0.7

0.6

L L L B = B

30 40 50 60
Simulated interactions

Pull of x for merged vertices

Ratio

0.8

0.6~

0.4

0.2

0.5

CO

150 200 250
Simulated interactions

100

=

0.9

0.8

0.7

0.6

e

30 40 50 60
Simulated interactions

20

=
[N

=

0.9

T T T
10

30 40 50 60
Simulated interactions

20

0.7

L LI L B L = =

30 40 50 60

Simulated interactions

ST D T P T
10 20 30 40 50 60

Simulated interactions

Pull of y for merged vertices

Ratio

Pull of z for merged vertices

Ratio

0.8~

0.6

0.4

0.2~

0.5

OO

50 200 250
Simulated interactions

100

0.8

0.6~

0.4

0.2

0.5

CO

150 200 250
Simulated interactions

100



	Contents
	Page 1


